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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST 2/ HALF YEARLY EXAMINATION 

SESSION: 2024-2025 
Class: IV                                                                                             Maximum Marks: 80 

Subject: Bengali                                                                        Time: 2 Hours 30 Minutes 

নির্দেনিকা: ক) এই প্রশ্নপর্ে চারনি নিভাগ আর্ে। 
           খ) এই প্রশ্নপর্ে ম াি ১৭ নি প্রশ্ন আর্ে। 

 নিভাগ- ক  

1. নির্চর অিুর্েদনি পর়্ে প্রদত্ত প্রশ্নগুনির সনিক উত্তরনি মির্ে নির্ে মির্খা: (1×10=10)  

 সু্পিনিক নেি নির্ের প্রথ  কৃনে  উপগ্রহ িা সযার্িিাইি। প্রথ   হাকাি যাোর মগৌরি 

িাভ কর্রনেি একনি কুকুর, িা  িাইকা। এরপর পািার্িা হে দুনি িািরর্ক। তারপর 

একনদি এক অস সাহসী  ািুষর্ক পািার্িা হে  হাকািচারী নহর্সর্ি। ইনতহার্স অ র 

মসই িযনির িা  ইউনর গযাগানরি। ইনি জানতর্ত রুি।  হাকাি যািনির িা  নেি ভস্তক। 

গযাগানরর্ির পর্র আরও অর্িক সাহসী  ািুষ  হাকাি ঘুর্র এর্সর্েি। এর্দর  র্যয প্রথ  

 নহিা  হাকািচারী নের্িি মতর্রর্কাভা িার্  এক রুি িারী। ভারতীে প্রথ  পুরুষ 

 হাকািচারী নের্িি রার্কি ি ো আর প্রথ   নহিা  হাকািচারী নের্িি কল্পিা চাওিা। 

ক) প্রথ  ভারতীে পুরুষ  হাকািচারী নের্িি –  

i) রার্জি ি ো     ii) রার্কি ি ো     iii) মরানহত ি ো     iv) মিানহত ি ো  

খ)  ািুর্ষর ততনর প্রথ  উপগ্রহ িা সযার্িিাইর্ির িা  হি –  

i) সু্পিনিক        ii) নস্পিনিক       iii) নস্পিিুক         iv) সু্পিিনক    

গ)  হাকার্ি প্রথ  ময প্রাণীনি নগর্েনেি মসটি একনি –  

i) িাির            ii) নি়োি         iii) কুকুর            iv) ঈগল  

ঘ) প্রথ   হাকািচারী নের্িি – 

i) অিনিি         ii) মতর্রর্কাভা    iii) িীি আ েস্ট্রং      iv) ইউনর গযাগানরি  

ঙ) মতর্রর্কাভা নের্িি ____  নহিা  হাকািচারী।  

i) প্রথ            ii)  নিতীে        iii)  তৃতীে           iv) চতুথে  

চ) ইউনর গযাগানরি জানতর্ত নের্িি –  

i) নচনা            ii) রুি           iii) ন িরীে          iv) জাপানি  

ে) একজি ভারতীে  নহিা  হাকািচারী নের্িি –  

i) আল্পিা মগার্ি    ii) জুনহ চাওিা   iii) কল্পিা চাওিা      iv)  ানহ ি ো  

জ) গযাগানরর্ির  হাকাি যািনির িা  নেি –  

i) ভস্তক           ii) সু্পিনিক      iii) ভর্েজার          iv) আযেভট্ট  
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ঝ) ‘অস সাহসী’ কথানির অথে হি –  

i) খুি িুনি াি      ii) ক  সাহসী    iii) খুি মিনি সাহসী  iv) খুি িনিিািী  

ঞ) ‘িাভ’ িব্দনির নিপরীতাথেক িব্দ হি –  

i) ডাি             ii) ক্ষনত          iii) ভার্িা            iv) নিন্দা  

 নিভাগ - খ  

2. অিুর্েদ রচিা কররা: ( ময মকার্িা একনি ) (5×1=5) 

 ক) প্রচণ্ড গরর্  িরীর হাাঁসফাাঁস করর্িও ঝুন়ে ভরা আ , জা , নিচু মপর্ে প্রাণ জুড়াে। 
মিাভিীে িরিত, আইসনি  মিি স্বনস্ত মদে। িাংিাে ময ঋতুর্ত এগুনি হে মসই ঋতু 
সম্বর্ে একনি অিুর্েদ মির্খা। 

অথিা 
খ) পনরেন্নতা  

 

3. পে রচিা কররা: ( ময মকার্িা একনি) (5×1=5) 

 ক) ির্ষাকাি মিষ হর্ে মগর্িও িৃনি প়ো এখিও থার্ নি। সারানদি িৃনি হর্েই চর্ির্ে। 
এ ি একনি িষেণ ুখর নদি তুন  কীভার্ি কািার্ত চাও তা জানির্ে িেুর্ক একনি  পে 
মির্খা। 

অথিা 
খ) গার্ের প্রর্োজিীেতার কথা জানির্ে মতা ার িেুর্ক একনি পে মির্খা। 

 

 নিভাগ- গ  

4. িা  নদর্কর নিপরীতাথেক িব্দগুনির সরে ডাি নদর্কর িব্দগুনি ম িাও:  (1×5=5) 

 িা  নদক ডাি নদক 
ক) আকষেণ                 i) পূণে 

          খ) িানস্ত                 ii) নিকৃি 
          গ) নিশ্রা  iii) নিকষেণ 

ঘ) উৎকৃি iv) পুরকার 
          ঙ) িূিয v) পনরশ্র   

 

5. নির্চর মরখানিত পদগুনি মকান্ পদ ও কী জাতীে তা মির্খা: (1×5=5) 

 ক) নিশু িািার সর্ে িাজার্র মগর্ে।  
খ) মকাহনি খুি মজার্র িি কর্রি। 
গ) কাি তারা ম িাে নগর্েনেি। 
ঘ) অ ি এর্ি আ রা বেররো। 
ঙ) শরৎকারল কাশফুল বফারি। 

 

6. েন্ধনীর মরযে বেওয়া শব্দগুটলর সটিক নিপরীতাথেক িব্দ টলরে িূিযস্থার্ি িসাও: 
ক) কাপ়েগুর্িা এখর্িা ___ (শুকর্িা) আর্ে।  

(1×5=5) 
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খ) প্রচণ্ড িৃনির্ত আসার্ ____ (খরা) হর্ে মগর্ে।  
গ) স্বা ী নির্িকািন্দ একজি ___( ূখে)  ািুষ।  
ঘ) েৃটি পড়রল মিাসর্দর িান়ের্ত____ (নিরাশ্রে) মিি। 
ঙ) পা়োর সিাই অ ি িািুর___ (নিন্দা) কর্র। 
 

7. িূিযস্থাি পূরণ কর্রা: (1×5=5) 

 ক) িা  পর্দর সর্ে ময নিভনিগুনি যুি হে তার্দর ির্ি ____ নিভনি। 
খ) মকার্িা কার্জর িা  মিাঝার্ি হে ____ টেরশর্ে পদ। 
গ) মকার্িা কাজ করা, হওো িা থাকা মিাঝার্ি হে ____ পদ। 
ঘ) টেভটি, টলে, েচন বভরে পটরেতষন হয় না ____ পরের। 
ঙ) নামপেরক ____ ভারে ভাে করা হয়। 

 

 নিভাগ- ঘ  

8. নির্চর িাকযগুনির ভুল সংর্িাযি কবরা: (1×4=4) 

 ক) সা র্ি মচর্ে নপনের্ে চর্িা- ভে মপর্ো িা িাদিার্ত।  
খ) নপর্ির ’পর্র িনসর্ে দাদা ির্িি কার্ি কার্ি। 
ে) বমরয় পাটেটি তীর বেরয়  ারা নগর্েনেি। 
ঘ) বলেরকর সু্কলটি শুরু হত টিক আিিায়।   

 

9. সতয/ন থযা মির্খা: (1×4=4) 

 ক) ‘চিার গাি’ কনিতানি নির্খর্েি কনি রিীন্দ্রিাথ িাকুর। 
খ) আকার্ির িের রাখার্ির জন্ম হর্েনেি। 
ে) য ুিা িদীর যার্র দুনি িক মখিা করনেি। 
ঘ) কুর্ি যাওোর জিয মিখর্কর খুি আিন্দ হনেি। 

 

10. শূনেস্থান পূরণ কররা:    (1×2=2) 

 ক) বিরন টনরয় বেল তারক ___________ কারে 
ে) যাক্কা টেরয় তারায় তারায়  
         ___________  টেরয় বিকে বর! 

 

11. অথে মির্খা: (1×2=2) 

  ক) উপনস্থত   ে) যুেল  

12. নিপরীত িব্দ মির্খা: (1×2=2) 

  ক) স্বগে      খ) দুভোগয  

13. নির্চর প্রশ্নগুনির পূণষ োরকে উত্তর োও: (1×6=6) 

 ক) োল্মীটক মুটনর টশরর্ের নাম কী টেল?  

ে) মক পাটেদুনির নদর্ক তীর েুাঁর়্েনেি? 

ে) ন িিানর কুর্ি ভারতীের্দর আসি সংখযা কত নেি? 
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ঘ) ‘আ ার্দর কুি’ গদযাংিনি কার মিখা? 

ঙ) ‘ াকাি’ কনিতাে রাখাির্ক মক বসানা েরল ডাকরতন? 

চ) ‘চিার গাি’ কনিতাে মকান্  নজনিস ঘা র্ি নকন্তু গির্ি িা? 

 
14. নির্চর প্রশ্নগুনির যথাযথ উত্তর মির্খা: (2×2=4) 

 ক) িাল্মীনকর  ুর্খ মলাক শুর্ি ব্রহ্মা কী ির্িনের্িি?  
খ) “নিাঁযর্ে কাাঁিা? ফুির্ে কাাঁকর?/ ফুিুক, তিু েুিি মহ –” ‘চিার গাি’ কনিতাে কনি 
একথা মকি ির্ির্েি, তুন  নির্জর ভাষাে িুনঝর্ে মির্খা।  

 

15. নির্চর প্রশ্নগুনির উত্তর দাও:  (3×2=6) 

 ক) “তুন  মির্ষ িির্ত নক চাও, গাি ফর্ির্ে গার্ে।”- অংশটি বকাথা বথরক বনওয়া 
হরয়রে এেং উটিটির মরযে টেরয় েিা কী বোঝারত বচরয়রে তা বলরো। 
খ) “ইহা এক অস্বনস্তকর অিুভূনত।” – ‘আ ার্দর কুি’ গদযাংর্ি বয অিুভূনতনির্ক 
অস্বনস্তকর িিা হর্ের্ে তা টনরের ভার্ায় বলরো।  

 

16. নির্চর প্রশ্নগুনির পূণেিার্কয উত্তর মির্খা:   (1×5=5) 

 ক) গদাযরর্ক দনক্ষর্ণের্রর মটিরর সিাই কী েরল ডাকত?  
খ) পর্র গদাযর কী িার্  নিখযাত হি?   
গ) গদাযর্রর একজি নির্ষযর িা  মির্খা। 
ঘ) ‘প্রভার্তর রনি’ গর্দয ‘ া া’ মক?  
ঙ) ‘িণেপনরচে’ কার মিখা?  

 

17. নির্চর প্রশ্নগুনির উত্তর দাও:  

 ক) রানি া পুরুত িাকুর্রর অপরায নির্ত পারর্িি িা মকি ? (2) 

 ে) রেীন্দ্রনাথ িাকুর ইংররেরের বেওয়া বকান্ উপাটয কী কাররণ তোে কররটেরলন? (3) 

 
***************  



1 
 

D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST 2/HALF YEARLY EXAMINATION 

     SESSION: 2024-2025  
Class: IV                                                                                               Maximum Marks: 80 

Subject: English                                                                          Time: 2 Hours 30 Minutes  

General Instructions: 
1. This paper consists of four sections: A, B, C and D. 

2. Attempt all questions.  

3. Read each question carefully and follow the instructions. 

 

 SECTION A: READING SKILL (10 MARKS)   

1. A. 

 

 

 

 

 

 

 

 

 

 

Read the passage carefully and answer the questions that follow :-  

Playland was like no other country in the world. The population consisted 

of children. The oldest was 14 and the youngest was 8 years old. Children 

were allowed to cycle, play or ride on wooden horses. There was so much 

noise and confusion that no one could really hear what the other was 

saying. 

Pinoo thought that it was the most beautiful life, with no school, no studies 

and no teachers to scold. He spent five happy months in Playland, without 

ever seeing a book.  

But one day Pinoo woke up and had a very unpleasant surprise. What a 

surprise it was! He noticed that his ears had grown as long as a broom 

during the night. He worriedly rushed to the mirror and saw that he had a 

magnificent pair of donkey’s ears! He now remembered all the warnings 

given to him by his father. Children who dislike books, schools and 

teachers, and who spend all their time with toys, must end up becoming 

donkeys. 
 

i) What all were the children allowed to do in Playland? 

ii) How long did Pinoo live in Playland?  

iii) Find out the word from the passage which means ‘extremely beautiful 

and elaborate’.  

iv) What warning did Pinoo’s father give him? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(1) 

(1) 

(1) 

 

(2) 

B. Read the passage carefully and answer the following questions :- 

Ants are insects that we find everywhere. They may be in your home, 

under your school desk, in the bathroom or in the grass during a picnic. 

There are more than 12,000 types of ants all around the world. 

In a colony there are three types of ants. These are the queen, the males 

and the female workers. A colony can also have more than one queen. The 

male ants and the queen both have wings, but the workers don’t. Soldier 

ants protect the queen ant and the colony. They also collect food and take 

care of the colony. 
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 The job of the queen ant is to lay eggs for the rest of her life. Some queen 

ants can live up to several years and have million babies! When the queen 

of the ant colony dies, the colony does not survive for long. 

Ants don’t have ears; they listen to the vibrations through their little feet. 

Ants breathe through tiny holes in their entire body because they don’t 

have lungs like human beings. When ants are looking for food, they leave 

chemical trails so that they know where they all have already been. 

Did you know that an ant can lift 20 times its own weight? This means 

that if a second grade student was an ant, they would be able to pick up a 

car!  
 

i) What is the job of the queen ant?  

ii) How much weight can an ant lift?  

iii) Find out the word from the passage which is the antonym of the word    

    ‘lose’. 

iv) Write down any two special qualities of ants.  

 

 

 

 

 

 

 

 

 

(1) 

(1) 

(1) 

 

(2) 

 SECTION B: WRITING SKILL (20 MARKS)  

2. 

 

 

Exotic Travels is offering an exciting vacation package of 5 nights and 6 

days to Andaman Islands at reasonable price. Design a Travel Ad on 

behalf of Exotic Travels in about 50 words. 

(4) 

 

3. 

 

Suppose you are Zara/ Zakir living in Pune. Your friend Radha/ Rohan 

has won a gold medal in the State English Essay Writing Competition. 

Write a letter to congratulate her/ him. 

                                                           OR 

Imagine that you are Mehul Sharma/ Meena Sharma. You reside in 

Jammu and Kashmir. It was the first snowfall after the onset of winter. 

Enter a page in your diary sharing the experience. 

(8)  

 

4. Write a paragraph on the topic ‘Health is Wealth’. (8) 

 SECTION C: GRAMMAR (20 MARKS)  

5. 

 

Fill in the blanks with suitable collective nouns from the brackets: - 

a) The ____________ of soldiers marched forward to the battlefield.   

       (army/cloud) 

b) The cowboy saw a huge ___________ of cattle. (class/herd) 

(1×2=2) 

6. 

 

Change the genders of the underlined nouns in the given sentences: - 

a) Rohan drew the picture of a gander. 

b) The countess has ordered the court members to perform the job  

     properly. 

(1×2=2) 

 

7. 

 

 

 

 

 

Choose the correct pronouns from the brackets to fill in the blanks: - 

a) The house on the left is __________. (their/ ours/ him) 

b) There’s Jade’s watch. Could ______ pass it to me? (you/ his/ my) 

c) I saw your sister’s paintings yesterday. _______ were very good.  

    (She/ They/ It) 

d) I am sorry but this seat is ___________. (my/ their/ mine) 

(1×4=4) 
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8. 

 

Look at the given picture of the room carefully and fill in the blanks 

with correct prepositions given in brackets: -  

 

 

 

 

 

 

                                                                                                                                                                                                                  

a) There is a teddy bear   _____ the dresser. (in/on) 

b) There is a cat_____ the bed. (beside/ near) 

c) There is a guitar_____ the bed and the dresser. (among/between) 

d) There is a stool_____ the table. (in front of / under) 

(1×4=4) 

9. 

 

 

 

Identify the adjectives in the given sentences and mention their kinds 

(quality, number, quantity): - 

a) I have five fingers in my right hand. 

b) The selfish giant did not allow the children to enter his garden. 

c) The family did not have enough food for the winter. 

d) Sheema cooks delicious food. 

(1×4=4) 

 

10. 

 

 

Choose the correct determiners from the brackets and fill in the 

blanks: - 

a) _________ of my colleagues are going on a trip. (Much/Any/Some) 

b) We need to do _______ work before the event starts. (few/any/a lot of) 

c) Though Chinese is a difficult language, _______ students opted for it. 

(any/many/much) 

d) I need to ask ______ questions to my teacher. (a little/a few/any) 

(1×4=4) 

 SECTION D: LITERATURE (30 MARKS)  

11.A. 

 

Choose the correct options to answer the questions below:                               

a) The character trait Rahul displayed when he defeated Raj unfairly is - 

     (i) honesty         (ii) jealousy           (iii) kindness         (iv) generosity   
  

b) Assertion  (A): Mr. Narayan Masuvekar was Sunil Gavaskar’s uncle. 

    Reasoning (R): Sunil Gavaskar has a hole near the top of his left ear- 

                              lobe. 

  (i) A is true but R is false                     (ii) R is true but A is false 

 (iii) Both A and R are true and R is the correct explanation of A. 

 (iv) Both A and R are true but R is not the correct explanation of A. 

(1×4=4) 

 

 c) Where would the speaker of the poem ‘Travel Plans’ choose to go? 

    (i) deep in the jungle                     (ii) deep in the snow  

   (iii) deep in the ocean                    (iv) pouch of a kangaroo 

 

 d) How did the narrator feel about his trip in the ‘Jungle Safari’? 

    (i) nervous                                      (ii) excited     

   (iii) indifferent                                (iv) scared 
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B. 

 

State whether the following statements are ‘True’ or ‘False’: - 

a) The narrator and his sister were highly disappointed about their  

     journey.  

b) The poet would find out if the North Pole was black.  

c) A frantic search was made for the misplaced nurses in the prose piece 

‘Mix-up at Birth’.  

(1×3=3) 

 

C. 

 

 

 

Fill in the blanks with suitable words: -  

a) If the nature had not marked Sunil Gavaskar, then perhaps he would 

have grown up to be a fisher man working somewhere along the 

_______. 

b) Rahul was ___________ of himself and cried bitterly.  

c) The poet wished to ______ on an ice cube.  

d) The narrator spotted a herd of __________ close to the lake waters. 

(1×4=4) 

 

D. 

 

Answer the following questions in one word each: -  

a) What is the name of the autobiography of Sunil Gavaskar? 

b) Name the spell the poet wants to cast on himself to be tall. 

c) Which place did provide the setting for Rudyard Kipling’s classic 

novel, ‘The Jungle Book’? 

(1×3=3)  

 

 

12. 

 

Answer the following questions briefly: -  

(a) ‘His friends were proud of him but now Rahul was not happy’. Give 

reason why Rahul was not happy with reference to the prose piece, ‘A 

True Friend’. 

(b) Describe Nan-Kaka’s experience on his first visit to the hospital. 

(c) When did the mix-up occur according to Sunil Gavaskar in ‘Mix-up at  

      Birth’? 

(d) The poet has coined the term ‘kangarooese’ in ‘Travel Plans’. Explain  

     its reason. 

(e) How did the lake water turn from silver to golden in ‘Jungle Safari’? 

(f) What left the narrator and his family amazed at the end of their exciting  

     journey? 

(2×6=12)  

 

13. ‘Raj helped Rahul in every way he could’. List any four qualities of Raj 

which made him a true friend of Rahul.  

(4) 

 

******************* 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

 PERIODIC TEST- 2 / HALF YEARLY EXAMINATION 

SESSION: 2024-2025 

Class:   IV                        Maximum Marks: 80 

Subject: HINDI                    Time: 2 Hours 30 Minutes 

 

 सामान्य निरे्दश : 
* इस प्रश्िपत्र में र्दो खंड हैं- खंड 'अ' और खंड 'ब'।  
* इस प्रश्िपत्र में कुल 6 पषृ्ठ है, और प्रश्िों की संख्या 18 हैं।   
* र्दोिों खण्ड अनिवायय हैं। 
* उत् तर पसु्ततका में उत् तर के साथ वही क्रम संख्या ललखखए जो प्रश्िपत्र  
  में र्दी गयी है।    

 

 

 

1. 

खंड -'अ' 
प्रततुत गदयांश को पढ़कर पछेू गए प्रश्िों के उत् तर ललखखए:­ 
दिव्यांश बस्तय लिए स्कूि से घर िौट रहय थय। उसे झयड़ि्ों के पयस से 
कुछ आवयज़ सनुयई िी। उसने कुछ आगे बढ़कर िेखय तो वहयाँ एक घय्ि 
आिमी प़िय करयह रहय थय। दिव्यांश ने पि-भर सोचय, फिर वह तेज़ी से 
घर की ओर भयगय। घर पहुाँचकर उसने ियिय जी को सयरी बयत बतयई। ियिय 
जी न ेआस-प़िोस के कुछ िोगों को सयथ लि्य, और घटनयस्थि पर पहुाँच 
गए। सबने लमिकर घय्ि व्क्तत को गय़िी में लिटय्य, और अस्पतयि िे 
गए। अब तक घय्ि व्क्तत बेहोश हो चकुय थय। डॉतटर ने दिव्यांश की 
पीठ थपथपयई और बोिे, “शयबयश बेटय! तुमने ध््यन न दि्य होतय तो शय्ि 
इसकी जयन न बच पयती।” 
 
क) दर्दवयांश कहााँ से लौट रहा था? 
ख) तकूल से लौटत ेसमय दर्दवयांश िे क्या रे्दखा? 
ग) घायल वयस्क्त को रे्दखकर दर्दवयांश ि ेक्या ककया? 
घ) डॉक्टर ि ेदर्दवयांश की पीठ क्यों थपथपाई? 
ङ) सब लोग घायल वयस्क्त को कहााँ ले गए? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(2) 
(2) 
(2) 
(2) 
(2) 
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2. निम्िललखखत शब्र्दों के उचित संबंध वाले ववकल्प छााँटकर ललखखए:­   
क) िेनय :     िेनय      ::    घमूनय :  ? 

    i) खेिनय    ii) सोनय    iii) फिरनय    iv) गगरनय   
ख) सखु :     िखु      ::    अपने  :       ? 
    i) जीवन     ii) आस    iii) पयस     iv) परयए  

(1×2=2) 

3. निम्िललखखत प्रश्िों के उचित ववकल्प छााँटकर ललखखए:­ 
क) ‘एक जोडी िप्पल खरीर्द लाओ।’ प्रतततु वाक्य में संयकु्त वयंजि  
   वाला शब्र्द है­  

  i) जो़िी      ii) चप्पि      iii) एक     iv) खरीि 
ख) ‘रोदहत अपिे माता-वपता के साथ िंडीगढ़ में रहता था।’ प्रततुत  
    वाक्य में से यगु्म शब्र्द छााँटकर ललखखए:­ 
    i) चांडीगढ़    ii) अपने      iii) रोदहत   iv) मयतय-पपतय   

(1×2=2) 

4. निम्िललखखत कथिों को पढ़कर सही ववकल्प छााँटकर ललखखए:­ 
क) कथि : 'घर बडा है'- वाक्य में 'घर' शब्र्द संज्ञा है।  
   कारण : काम वाले शब्र्दों को संज्ञा कहते हैं।   

i) कथन और कयरण िोनों सही हैं, त्ोंफक कयरण कथन की सही   
  व्यख््य करतय है।   
ii) कथन और कयरण िोनों सही हैं, परांत ुकयरण कथन की सही व्यख््य   
   नहीां करतय है।   
iii) कथन सही है, परांतु कयरण ग़ित है।    
iv) कथन ग़ित है, परांतु कयरण सही है।   
ख) कथि : 'खीर तवादर्दष्ठ' है’- वाक्य में 'तवादर्दष्ठ' शब्र्द ववशषेण है।  
    कारण : 'तवादर्दष्ठ' शब्र्द ‘खीर’ शब्र्द की ववशषेता बता रहा है।    
i) कथन और कयरण िोनों सही हैं, त्ोंफक कयरण कथन की सही व्यख््य  
  करतय है।  
ii) कथन और कयरण िोनों सही हैं, परांत ुकयरण कथन की सही व्यख््य  
   नहीां करतय है।  
iii) कथन सही है, परांतु कयरण ग़ित है।    
iv) कथन ग़ित है, परांतु कयरण सही है।  
 

(1×2=2) 
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5. निम्िललखखत वाक्यों में दर्दए गए खाली तथाि में सही शब्र्द ललखखए:­ 
क) मोर नयच रहय थय, और _______ ियनय चगु रही थी।   
ख) गय् घयस खय रही थी, और ______ ख़िय थय।   

(1×2=2) 

6. क) निम्िाकंकत चित्र के आधार पर अििुालसक वयजंि वाला एक शब्र्द  
    ललखखए:­  

                        
ख) निम्िाकंकत चित्र का बहुविि रूप ललखखए:­  
                       

                       

(1×2=2) 

7. ततंभ ‘क’ वाले शब्र्दों को ततंभ ‘ख’ के समाि अथय वाले शब्र्दों से लमलाकर 
ललखखए:­ 

ततंभ ‘क’ ततंभ ‘ख’ 

 क) सतकय  i) खुशब ू 

        ख) प्रसन्ि ii) र्दोतती 

  ग) लमत्रता   iii) सावधाि 

        घ) सगंुध            iv) खुश 
 

(1×4=4) 

8. निम्िललखखत कथिों को पढ़कर 'सही' या 'ग़लत' ललखखए:­ 
क) 'मक्खि' शब्ि में 'क्ख' सां्तुत व ा्ंजन है।  
ख) 'पीठ थपथपािा' महुयवरे कय अथथ भयग जयनय होतय है।  

(1×2=2) 

9. निम्िललखखत प्रश्िों के सही ववकल्प छााँटकर ललखखए:­    
क) हलआु मीठा बिा था।­ वाक्य में रेखाकंकत शब्र्द है­ 
   i) सांज्ञय   ii) पवशषेण      iii) फि्य    iv) सवथनयम 
ख) 'काले बार्दल छा गए।'­ वाक्य में रेखाकंकत शब्र्द क्या है? 
   i) सांज्ञय   ii) सवथनयम      iii) फि्य    iv) पवशषेण 
 

(1×2=2) 
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10. निम्िललखखत प्रश्िों के उचित ववकल्प छााँटकर ललखखए:­ 
क) 'मुाँह में पािी आ जािा' महुावरे का अथय है­  
   i) बरुयई करनय              ii) मज़यक बनयनय  
   iii) ियिच करनय            iv) पररश्रम करनय  
ख) माधव रे्दख िही ंसकता था। उसि ेखीर कभी िही ंखाई थी।    
   रेखांककत सवयिाम शब्र्द ककसके ललए प्रयोग ककया गया है?   

   i) नहीां     ii) िेख    iii) मयधव      iv) सकतय        

(1×2=2) 

11. निम्िललखखत गदयांश को पढ़कर पछेू गए प्रश्िों के उत् तर ललखखए:­    
ियिी अपनय िखु फकसी को नहीां बतयती थीां। िेफकन रोदहत उनकय चहेरय 
िेखकर भयाँप जयतय फक ियिी िखुी हैं। उसकी बहन उसे 'ियिी कय चमचय' 
कहकर गचढ़यती। रोदहत भयवकु होने के सयथ-सयथ पढ़यई-लिखयई में भी बहुत 
अच्छय थय। वह कक्षय में हमेशय प्रथम आतय थय। खेि-कूि तथय अन्् 
गततपवगध्ों में भी वह आगे रहतय थय। एक बयर परीक्षय में उसके अच्छे 
अांक नहीां आए। उसके पपतय ने उसे कुछ नहीां कहय बक्कक रोदहत के कम 
अांकों के लिए ियिी को ही क्ज़म्मेियर ठहरय्य।          
क) प्रततुत गदयांश ककस पाठ स ेललया गया है?   
i) लमत्रतय   ii) उिटय-पिुटय    iii) ियिी कय रेडड्ो   iv) अनोखय ढांग    
ख) रोदहत कैसे भााँप जाता था कक र्दार्दी र्दखुी हैं? 
i) आाँख िेखकर                      ii) नयक िेखकर         
iii) कयन िेखकर                     iv) चहेरय िेखकर    
ग) कक्षा में रोदहत की क्या स्तथनत थी?  
i) वह कक्षय में प्रथम आतय थय।   ii) वह कक्षय में द्पवती् आतय थय।                
iii) वह कक्षय में ततृी् आतय थय।  iv) वह कक्षय में चतुथथ आतय थय।      
घ) रोदहत के कम अंक आि ेपर वपता जी िे ककसे स्िम्मेर्दार ठहराया  
   था? 
i) बहन को    ii) मयतय को      iii) िीिी को     iv) ियिी को   
ङ) रोदहत की बहि उसे क्या कहकर बलुाती थी?  
i)  ियिी कय चमचय                     ii) ियिी कय बेटय      
iii) ियिी कय गमछय                    iv) ियिी कय पोतय      

(1×5=5) 
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12. निम्िललखखत कावयबोध पर आधाररत प्रश्िों के ललए सही ववकल्प छााँटकर 
ललखखए:­   
क) 'उलटा-पलुटा' कववता के आधार पर ललखखए कक नििली छत से कौि  
   चगरता है?   
  i) मक़ि े      ii) तछपकिी     iii) चीांटी      iv) बांिर 
ख) 'पहली बाररश' कववता के आधार पर ललखखए कक कपड ेकहााँ पर  
    लटक रहे थे? 
  i) खख़िकी      ii) छत         iii) िीवयरों    iv) रस्सी  
ग) 'पहली बाररश' कववता के आधार पर ललखखए कक राशि लािे कौि  
    गया था?  

  i) अम्मय और िीिी    ii) ियिी    iii) मयमी   iv) चयची      
घ) 'पहली बाररश' कववता के आधार पर ललखखए कक खतुरू कौि है?  
   i) मयिी    ii) मोची      iii) रयजलमस्त्री     iv) धोबी   
ङ) 'उलटा-पलुटा' कववता के आधार ललखखए कक एकाएक कौि पलट जात े 
   हैं? 
   i) ततिचट्टे और चीांटे           ii) गय् और बिै         
   iii) बांिर और भयि ू            iv) बबकिी और चहूय    

(1×5=5) 

 

13. 
खंड -'ब' 

निम्िललखखत प्रश्िों के उत् तर (15-20 शब्र्दों में) ललखखए:­                    
क) रयहगीर महि के कीमती सयमयन को िेखकर ियिच में आकर चोरी  
   करतय है। त्य रयहगीर कय ऐसय करनय सही थय? आप रयहगीर की  
   जगह पर होत ेतो त्य करते? 

ख) 'उिटय-पिुटय' अध््य् में लभन्न-लभन्न जीव अपने जीवन में आई  
   कदठनयई कय सयमनय करके जीवन में आगे बढ़त ेहैं। आप अपने जीवन  
   में आई कदठनयई कय सयमनय कैसे करत ेहै? 
ग) ‘अनोखय ढांग’ अध््य् के आधयर पर लिखखए फक अगर आप गयांधी जी  
   के स्थयन पर होत ेतो त्य आप मन ुको पत्थर ियने के लिए जुियहे  
   के घर भेजत?े अपनय पवचयर लिखखए।     
घ) रोदहत के मयतय-पपतय कय व्वहयर उसकी ियिी के प्रतत त्य सही थय?  
   आप रोदहत के मयतय-पपतय के स्थयन पर होते तो त्य करत?े  

 

(2×4=8) 
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14. निम्िललखखत प्रश्िों के उत् तर (20-25 शब्र्दों में) ललखखए:­     
क) सपु्पांिी कय गरम तवे पर चप्पिों को रखनय सही थय ्य ग़ित? कयरण   
   सदहत उत् तर लिखखए।  
ख) त्य आप कहीां भोज खयन ेगए थे? वहयाँ आपको कौन-सय भोजन पसांि  
   आ्य और त्ों? 
ग) 'पहिी बयररश' कपवतय के आधयर पर बयररश होन ेके पहिे और बयररश  
   होने के बयि के दृश्् में से आपको कौन-सय दृश्् पसांि है, और त्ों?  
घ) “सच्च ेलमत्र की पहचयन कदठन सम् में ही होती है।”- ‘लमत्रतय’ अध््य्  
   के आधयर पर उत् तर लिखखए।   

(3×4=12) 

15. ककसी एक ववषय पर (60 शब्र्दों में) अिचु्छेर्द ललखखए:­ 
क) सम् कय महत् त्व  ख) मेरय प््यरय िेश  ग) मेरे जीवन कय िक्ष्् 

(5) 

16. अपनी ब़िी िीिी की शयिी के लिए चयर दिन के अवकयश हेत ुप्रयचय्थ को 
(60 शब्िों में) पत्र लिखखए।      
                           अथवा 
‘व्य्यम कय महत् त्व’ बतयते हुए अपने छोटे भयई को (60 शब्िों में) पत्र 
लिखखए।  

(5) 

17. र्दो लमत्रों के बीि ‘परीक्षा की तैयारी’- ववषय पर हुई बातिीत को संवार्द के 
रूप में (50 शब्र्दों में) ललखखए। 

(5) 

18. प्रततुत चित्र का वणयि (60 शब्र्दों में) कीस्जए।  

 

(5) 

*********** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE  

PERIODIC TEST- 2/HALF YEARLY EXAMINATION  

SESSION: 2024 -2025 

Class: IV                          Maximum Marks: 80 

Subject: Mathematics                                                    Time: 2 Hours 30 Minutes  
General instructions: 

1. This question paper consists of 29 questions divided into 5 sections A, B, C, D and E . 

2. All questions are compulsory. 

 

 SECTION - A  

1. Write the standard form of 3×1,000 + 4×100 + 9×10 + 8×1. (1) 

2. Fill in the blanks:  71 × 0  × 37 = ______________. (1) 

3. If Divisor =7, Remainder =3, Quotient = 4 then, Dividend = _________. (1) 

4. The best unit to measure the distance between Delhi and Chennai is ___. (1) 

5. Write the successor of 26,739. (1) 

6. The sum of four angles of a rectangle is equal to ________ degrees. (1) 

7. To which period does ten thousands belong? (1) 

8. Find the perimeter of a square whose length of each side is 8 cm. (1) 

 SECTION - B  

9. What is the sum of the place values of two sixes in 63,065? (2) 

10. If 6,542 ÷ 1,000 ,  then quotient = ________ and remainder = _______. (2) 

11. Convert  25 m 44 cm into centimetres. (2) 

12. Rewrite the numeral 78,256 by interchanging the digits of the tens and 

thousands place. Also find the difference between the numbers thus formed. 

(2) 

13. Construct a right angle and name the angle whose arms are PQ and PR. (2) 

14. Perimeter of a triangle is 18 cm. If length of one side is 7 cm, what will be the 

sum of other two sides? 

(2) 

 SECTION - C  

15. Form the greatest and the smallest 5-digit number using the digits 9,2,7,0,8 

only once. Write the digit whose place is same in both the numbers thus 

formed. 

(3) 

16.  What must be subtracted from 6,36,985 to get 2,76,582? (3) 

17. Draw and write the names of three things that are sold by measuring length. (3) 

18. Draw a line segment AB of length 7 cm. At ‘A’ draw an angle of measure 75o. (3) 
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19. Find the perimeter of the given figure: 

 

 

 

(3) 

 SECTION - D  

20. In a stadium, on Tuesday 28,917 people watched the cricket test match. On 

Wednesday 26,625 people watched the match. On Thursday the attendance 

was 31,897. What was the total attendance for these three days? 

 

(4) 

21. Rajat saves ₹359 every month. How much money can he save in 4 years? (4) 

22. Divide 56,031 by 53 and check your answer. (4) 

23. How much lace does Mrs. Meena need to stitch 3 pillow covers, if the length 

and breadth of each pillow cover is 45 cm and 30 cm respectively? 

 

(4) 

24. A box contains 276 apples. How many apples can be packed in 175 such 

boxes? 

(4) 

 SECTION - E  

25. By how much 7,97,305 is greater than the sum of 5,29,257 and 32,573? (5) 

26. Cost of one pencil box is ₹250. Find the cost of 3 dozen of such pencil boxes. (5) 

27. A train had 19 compartments. If there were 456 passengers in the train and 

each compartment had an equal number of passengers, find the number of 

passengers in each compartment. 

(5) 

28. A village is at a distance of 285 km 800 m on one side of Delhi and another 

village is 476 km 700 m on the opposite side. Find the total distance between 

the two villages if all of them are in a line. Also convert the total distance into 

metres. 

(5) 

29. A rectangular garden has a length of 15 m. Its breadth is 5 m less than the 

length. 

(i) Find the perimeter of the garden. 

(ii) If the cost of fencing is ₹50 per m, how much will it cost to put a    

     fence around the garden? 

(5) 

 ***************  
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST-2/ HALF YEARLY EXAMINATION 

SESSION: 2024-2025 
Class: IV                                     Maximum Marks: 80 

Subject: General Sciences                          Time: 2 Hours 30 Minutes 
General Instructions:  

• The question paper consists of 8 questions. 

• All the questions are compulsory. 

1.  Choose the correct answer from the given options: (1×10=10) 

a) The organ where absorption of digested food occur is- 

 

 

  

i)                                     ii)                    iii)                                iv)  

 

b) The hardest substance in human body is- 

 i) nail                    ii) tongue             iii) enamel                  iv) brain 

 

c) Jasmine: Perfume :: Clove: ____.  

  i) Decoration                                                  ii) Medicinal oil  

iii) Cosmetics                                                  iv) Colours 

 

d)  I am Indian gooseberry, people also call me- 

 i) amla             ii) strawberry             iii) litchi                    iv) jamun                                                              

 

e) The type of root system shown in the given picture 

is present in- 

 i) mango      ii) grass    iii) peepal    iv) banyan 

 

f) The special roots (prop roots) of banyan tree help to- 

i) give extra support                              ii) bloom flowers  

iii) make food for plant                        iv) all of the above 

 

 

g) Which among the following is the free-floating plant? 

i) Water hyacinth         ii) Hydrilla         iii) Lotus             iv) Coconut 

 

h) 

 

Name the habitat of the tree shown in the given 

picture. 

  i) Plains                            ii) Deserts        

iii) Hilly areas                    iv) Hot & wet region 

 



2 
 

i) Statement 1: To clean the feathers and set them right is known as    

                       preening. 

Statement 2: Birds use their beak only for eating their food.  

i) Statement 1 is correct; Statement 2 is incorrect. 

ii) Statement 1 is incorrect; Statement 2 is correct. 

iii) Both the statements are correct. 

iv) Both the statements are incorrect. 

 

j) _________ can walk in shallow water or mud. 

  i) Wading bird                                    ii) Swimming bird                 

iii) Perching bird                                 iv) Scratching bird 

 

2. Fill in the blanks with appropriate words:  (1×10=10) 

a) Flowers like chrysanthemum, dahlia, rose are commonly seen in 

_________ season. 

 

b) Leaf has _____________ in it to give it the green colour.  

c)  A person who studies about birds is called an ________.  

d)  Banana plant has ____________ roots.  

e) ___________ are undesirable plants which grow along with the 

cultivated plants. 

 

f)  The stem of lotus is commonly known as _____________.  

g) A swallow has ___________ beak.  

h) The largest gland of our body is _________.  

i) We eat fruits because they give ________ to our body.  

j) There are ____________ premolars in all.  

3. 

 

 

 

 

 

 

 

Match column A with column B: 

A B 

a) Permanent teeth i) Root 

b) Soil conservation                                                        ii) Eagle 

c) Tap roots                                                           iii) Thirty-two 

d) Piercing & tearing beaks                                  iv) Smallest flower  

e)  Rubber tree                                            v)  Rose plant 

f) Watermeal    vi) Evergreen trees 
 

(1×6=6) 
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4. Read the passage and answer the questions: 

Neetu visited an aviary with her father. Neetu saw different types of 

birds there. She noticed different types of birds have different types of 

feet and claws. Her father told her that different feet and claws of 

birds are shaped to suit their perching and food habits. Claws can also 

be used for climbing, protecting, holding food, scratching and 

swimming. 

a) Give an example of perching bird. 

b) What type of feet helps a penguin to swim in water? 

c) Name a bird which scratches the ground to find its food. 

d) Name one bird whose two toes are pointing upward and two toes  

    are pointing downward. 

(4) 

5. 

a)  

Do as directed: 

i) Identify the plant in the picture given and  

    mention its habitat.  

ii) Write a feature of this plant that enables  

     it to adapt to its habitat. 

(2×6=12) 

b) “Root performs two primary functions” – Enlist them.  

c) Give examples for the following:  

i. Fruits that can be used as vegetables: ________, _________  

ii. Flowers that are used as vegetables:  ________, _________ 

 

d) i. Unscramble the following jumble word:  AMNOG 

ii. Write two preparations made by using it. 

 

e) Complete the table: 

Name of the teeth Function 

i. Canines  

ii. Incisors  
 

 

 

 

f) Write two uses of beak of a bird.  

6.  Answer the following questions in brief: (3×4=12) 

a) 

 

 

 

Observe the pictures given below and answer the following questions:                                                  

 

 

 

i) Identify and name the pictures X and Y given above.  

ii) Write one difference between them. 

 

X Y 
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b) Define breathing root. Give an example.  

c) Name two birds of prey. Why are they called so?  

d) i) What do you understand by seasonal flowers?  

ii) Name the largest flower in the world. 

 

7. 

a) 

Answer the following: 

i) Complete the journey of food through digestive system.  

Mouth 

 
 

ii) How many pairs of salivary glands are present in our mouth? 

Name the fluid which is secreted by our salivary glands. 

(4×4=16) 

 

b) i) Mention two features of flowers. 

ii) Differentiate litchi and orange on the basis of season and seeds. 

 

c)   Observe the pictures given below and answer the following 

questions: 

   

 

              

            A                                   B       

i) Identify the special type of roots shown in picture A and B. 

ii) Write the special functions performed by these two roots. 

 

d) What is habitat? Write any three features of plants that grow in hilly 

region. 

 

8.a) 

 

i) Draw and name a fixed aquatic plant.  

ii) Draw and name a plant growing in plain.  

iii) Write the reason to remove the weeds from the field. 

(5×2=10) 

 b)  i) Draw the beak of a woodpecker and mention the type of beak.  

 ii) Draw the feet of a bird that helps them to swim in water and      

      mention the type of claws.  

iii) Name the bird that can flap its wings 90 times in one second and    

     mention the type of beak of the bird. 

 

 

*************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST -2 / HALF YEARLY EXAMINATION 

SESSION:  2024-2025 

Class: IV                                          Maximum Marks:80  

Subject: Social Science                                                          Time: 2 Hours 30 Minutes 

   General Instructions: 

1.  There are 38 questions. All questions are compulsory. 

2. There is no overall choice in the question paper.  

3. Question no. 38 is map question. Map should be attached with the answer sheet. 

 

 

1. 

Choose the correct option from the following: (Q.No.1 to Q.No.10)  

The surname is associated with: 

a) School                                                 b) Family 

c) Society                                                d) Neighbourhood 

 

(1) 

 

2. A Spanish monk who became the first teacher to teach hearing impaired 

students- 

a) Juan Paulo Bonet                                b) Juan de Galavis 

c) Pedro Cerbuna                                    d) Pedro de Ponce 

(1) 

 

3. King Mahabali was a demon king of – 

a) Tamil Nadu                                            b) Karnataka 

c) Andhra Pradesh                                     d) Kerala 

(1) 

 

4. Lokhan lives in Arunachal Pradesh. The materials which are used to make 

houses in the rural parts of Arunachal Pradesh are- 

a) Bricks and cement                                b) Wood and iron 

c) Mud, bamboo, straw and dry leaves     d) None of these 

(1) 

 

5. The lives of people in Mizoram revolves around- 

a) Bamboo                                                b) Paper 

c) Plastic                                                   d) Rubber 

(1) 

 

6. Your maternal grandparents’ only daughter is your _____. 

a)  Sister                                                     b) Aunt 

c) Mother                                                   d) Niece 

(1) 

 

7. Ganesh Chaturthi is celebrated in the month of _____________ 

a) January or February                             b) March or April 

c) June or July                                          d) August or September 

(1) 

 

8. The bricks are arranged in a kiln for baking which makes them________. 

a) Soft                                                      b) Strong 

c) Light                                                    d) Fragile 

(1) 

 

9. Biodegradable waste can be used to make ________________. 

 a) Compost                                              b) Bricks 

 c)Wires                                                    d) Coal 

(1) 

 

10. ________________ is a basic industry. 

a) Iron and steel                                           b) Coal  

c) Cement                                                      d) Electrical machinery 

(1) 
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11. 

Consider the statements and find out the correct option: 

(Q.No.11 to Q.No.15)  

Statement 1: In Navaratri Goddess Durga is worshipped.  

Statement 2: Durga Puja is celebrated as Diwali in Northern India. 

a) Statement 1 and statement 2 are true. 

b)  Statement 1 and statement 2 are false. 

c)  Statement 1 is true and statement 2 is false. 

d)  Statement 1 is false and statement 2 is true. 

 

 

        (1) 

 

12. Statement 1: Ayesha lives in a small township of Begampur in Uttar     

                    Pradesh.  

Statement 2: Neerad lives in a mansion in Bhagalpur.  

a) Statement 1 and statement 2 are true. 

b)  Statement 1 and statement 2 are false. 

c)  Statement 1 is true and statement 2 is false. 

d)  Statement 1 is false and statement 2 is true. 

(1) 

 

13. Statement 1: Lokhan’s father is Ali.  

Statement 2: Lokhan lives in a village Dong.  

a) Statement 1 and statement 2 are true. 

b)  Statement 1 and statement 2 are false. 

c)  Statement 1 is true and statement 2 is false. 

d)  Statement 1 is false and statement 2 is true. 

(1) 

 

14.  Statement 1: Biodegradable waste cannot be converted into harmless  

                    substances. 

Statement 2: Paper can be recycled to make newsprint, toilet paper etc. 

a) Statement 1 and statement 2 are true. 

b)  Statement 1 and statement 2 are false. 

c)  Statement 1 is true and statement 2 is false. 

d)  Statement 1 is false and statement 2 is true. 

(1) 

 

15. Statement 1:  Many people choose an occupation on the basis of their  

                      parent’s interest only. 

Statement 2: In earlier times farming was the main occupation of the   

                     people. 

a) Statement 1 and statement 2 are true. 

b)  Statement 1 and statement 2 are false. 

c)  Statement 1 is true and statement 2 is false. 

d)  Statement 1 is false and statement 2 is true. 

 

 

(1) 
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16. Match column A with column B and find out the answers from the options given 

below: 

       Column A         Column B 

  i) Joint family   A)   First school 

  ii) Family   B)  Greater interaction 

  iii) Family craft   C)  Live under the same roof   

  iv) Nuclear Family    D)   Pottery 

 

    a) i-B, ii- D, iii-A, iv-c 

    b) i-D, ii-B, iii-C, iv-A 

    c)  i-C, ii-A, iii-D, iv-B 

    d)  i-B, ii-A, iii-D, iv-C 

(1) 

 

Find the odd one out:( Q. No. 17 & Q. No.18) 

17. a) Better jobs    b) Educational Opportunities    c) Suitable climate     

d) Agriculture 

(1) 

 

18. a) Gestures        b) Sign Language   c) Braille             d) Mime (1) 

 

Solve the analogical pattern:( Q. No. 19 & Q. No.20) 

19. Navratri: ____________::  Durga Puja: ______________ 

a) Maharashtra: West Bengal 

b) Gujarat: Tamil Nadu 

c) Kerala: Andhra Pradesh 

d) Gujarat: West Bengal 

(1) 

 

20. Modern Suspension Bridge: Steel :: Early Suspension Bridge:_________ 

a) Cable 

b) Wood 

c) Rope 

d) Wood and rope 

(1) 

 

21. Name two types of families. State the importance of family.     (1+1) 

22. Define ‘Sign Language’. Give two examples.      (1+1) 

23. Write down the names of any four special dishes prepared during the 

festival of Onam. 

(2) 

24. Mention two important features of an ideal home. (2) 

25. Discuss any two benefits of modern building materials.        (2) 

26. Enlist the four R’s that we should adopt in daily life. Write down any one 

way to reduce waste. 

(1+1) 

27. Give two examples each of Manual and Intellectual Labour.     (1+1) 

28. State three important points that one should keep in mind while taking a 

blind person to the market.  

      (3) 

29. List three dangers that are posed by open garbage heaps.  (3) 

30. The main door must have a ‘spy eye’ to ensure that the door is not 

opened to the strangers. State any three safety measures of an ideal home 

other than the given. 

(3) 

31. Highlight any three causes behind the increase in the amount of garbage. (3) 
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32.    A farmer’s primary occupation is to cultivate the land and grow crops. 

This involves preparing the soil, sowing seeds, irrigating the fields and 

harvesting the crops. Farmers often work for long hours and rely on 

favourable weather conditions for a good yield.  

(i) Mention the primary activities involved in a farmer’s occupation   

     according to the source. 

(ii) According to the source, what do farmers rely on for a good yield?  

(iii) Mention the kind of labour that Farmer’s occupation needs.  

(2+1+1) 

33. a) Suppose you have recently visited Gujarat during Navratri. List out any   

     two features that were related to Navratri celebration. 

b) ‘Id-ul-fitr is a day of joy and thanksgiving’. Elaborate. 

(2+3) 

34. It is necessary to maintain hygiene in the house. In this regard, mention 

two responsibilities of children.  

Clean surroundings are also important as a clean house. Give three 

arguments in favour of the statement. 

(2+3) 

35. Prepare a flowchart on the process of brickmaking and describe any three 

points. 

(2+3) 

36. Imagine yourself to be the Mayor of your town. You want to make your 

town cleaner and healthier by managing waste better. 

(i) List three things you can do to manage the waste of your town. 

(ii) Draw a poster that encourages people in your town to reduce the  

     amount of garbage. 

(2+3) 

37.  (i) Identify the profession and mention the type of   

      the labour. 

(ii) “Manual work is not inferior to mental work.”-   

       by Gandhiji. In light of this opinion, could   

       you share your perspective. 

 

     (2+3) 

38. On the political map of India label and colour: 

A. A state close to a sea. 

B. Andhra Pradesh. 

C. Karnataka 

D. The state where Bandra Sea Link Bridge is located. 

E. A state famous for kachchi embroidery. 

 
  

**************** 

 

(1×5=5) 
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